
1290 SUPER DUKE GT GREY 17 <2017><CN><F9987QE>
FRONT FORK, TRIPLE CLAMP

18852

Pos Part Number Description Additional Text Quantity

1 14181Q2301 Fork Safe SD GT 1290 2017 1.00

2 6140103202933S BOTTOM TRIPLE CLAMP CPL. 1.00

3 6140103402933S UPPER TRIPLE CLAMP 1.00

4 6140103904233S Handlebar support 2.00

5 6130103800033S HANDLEBAR CLAMP 1.00

6 6900103600001 STEERING HEAD SCREW 09 1.00

7 0035080306 AH collar screw M8x30 ISA45 10.00



8 0032100356S AH-COLLAR SCREW M10X35 ISA45 2.00

9 0035080306S AH collar screw M8x30 ISA45 1.00

11 59001037000 SPECIAL SCREW M8X26 WS=10 2.00

12 0934080003 Hexagon nut DIN934 M8 2.00

13 0025080206 HH collar screw M8x20 SELF-LOCKING 4.00

14 00501020S1 AH SCREW M10X20 SET 2.00

15 69001086100 PROT. RING STEER. HEAD BEARING 1.00

16 69001084000 O-RING SUPPORT W. SEALING LIP 2.00

17 69001081000 STEERINGHEAD BEARING CPL. 2.00

18 16181N52ES STEERING DAMPER CPL. STROKE 75 1.00

19 0025080256S HH COLLAR SCREW M8X25 TX40 1.00

20 0025060206S HH collar screw M6x20 TX30 2.00

21 0988253505 thrust wash DIN0988-25x35x0,5 1.00

99 69001081044 STEARING HEAD REP. KIT RC8 1.00


